
25− 20− 15− 10− 5− 0 5 10 15 20 25
TP dxy (cm)

0.95

1

1.05

R
at

io 0

0.01

0.02

0.03

0.04

0.05

0.06

0.07

0.08

0.09

0.1

ef
fic

ie
nc

y 
vs

 d
xy

Efficiency vs Dxy

30− 20− 10− 0 10 20 30
TP dz (cm)

0.95

1

1.05

R
at

io 0

0.1

0.2

0.3

0.4

0.5

0.6

0.7

0.8

ef
fic

ie
nc

y 
vs

 d
z

Efficiency vs DzEfficiency vs Dz
/data2/legianni/pareto-opt/restart/CMSSW_14_0_5/src/MTV-plot/DQM_TT__original_PU
DQM_TT__trainAll2_PU
DQM_TT__trainAll2pth_PU
DQM_TT__trainAll2ptl_PU


	Contents
	Page 1


